
STEERING & SUSPENSION PARTS

JAPANESE VEHICLES
KOREAN VEHICLES
AMERICAN AND EUROPEAN VEHICLES

NEW ITEM LIST
(1st HALF 2015)

NEO CTR CO., LTD.



BALL JOINT

TOYOTA
CTR NO OEM NO CONTENTS CAR NAME MODEL YEAR MOQ

CBT-49R 43330-39415 ◈ LOWER R HILUX KZN185, KDN185, RZN18#, VZN18#, KZJ185 01- 10PCS
43330-39585 4RUNNER RZN18#, VZN18# 96-02
43330-39466 LAND CRUISER PRADO KZJ90,RZJ9#,VZJ9# 96-

TUNDRA 00-02
CBT-49L 43340-39325 ◈ LOWER L HILUX KZN185, KDN185, RZN18#, VZN18#, KZJ185 01- 10PCS

43340-39465 4RUNNER RZN18#, VZN18# 96-02
43340-39356 LAND CRUISER PRADO KZJ90,RZJ9#,VZJ9# 96-

TUNDRA 00-02

NISSAN
CTR NO OEM NO CONTENTS CAR NAME MODEL YEAR MOQ

CBN-76 LOWER R/L 240SX S13 88-93 50PCS
SILVIA FOR 54500-52F00/54501-52F00 88-93
CEFIRO 88-94
LAUREL 88-92

MITSUBISHI
CTR NO OEM NO CONTENTS CAR NAME MODEL YEAR MOQ

CBM-32 MR496792 ◈ FRONT UPPER PAJERO V65W, V63W, V68W, V73W, V75W, V78W 99- 30PCS
4010A099 MONTERO  01-06
4010A015 TRITON KB4T, KB8T, KA4T 05-

 BALL JOINT ONLY  
FOR 4010A038/4010A037

HONDA
CTR NO OEM NO CONTENTS CAR NAME MODEL YEAR MOQ

CBHO-41 51220-TA0-A02 LOWER ACCORD EX, LX, XE 08- 40PCS
INSPIRE CP3 08-
ACURA TSX  09-
FOR 51350-TA0-A00/51360-   
FOR 51350-TE1-A00/51360-
FOR 51350-TP6-C00/51360-

CBHO-41-M 51220-TA0-A02 LOWER ACURA TL UA8, UA9 09- 40PCS
 FOR 51350-TK4-A01/51360-TK4-A01

CBHO-51 51220-TR0-A01 LOWER R/L CIVIC 11- 20PCS
ACURA ILX 13-

HYUNDAI
CTR NO OEM NO CONTENTS CAR NAME MODEL YEAR MOQ

CBKH-42R 54530-C1100 LOWER R LF SONATA 14- 30PCS
LF SONATA HYBRID 14-

CBKH-42L 54530-C1000 LOWER L LF SONATA 14- 30PCS
LF SONATA HYBRID 14-

KIA
CTR NO OEM NO CONTENTS CAR NAME MODEL YEAR MOQ

CBKK-30 54530-A9000 LOWER CARNIVAL 14- 10PCS
  
 

CBKK-31 54530-C5100 LOWER SORENTO 14- 20PCS

GM
CTR NO OEM NO CONTENTS CAR NAME MODEL YEAR MOQ

CBG-56 25833178 LOWER CADILLAC SRX 09- 40PCS

HOLDEN
CTR NO OEM NO CONTENTS CAR NAME MODEL YEAR MOQ

CBHD-19 92225044 PILLOW BALL COMMODORE VE 08- 50PCS
CHEVROLET SS 14-
CHEVROLET CAPRICE 11-

NEW ITEMS



CONTROL ARM

TOYOTA
CTR NO OEM NO CONTENTS CAR NAME MODEL YEAR MOQ

CQT-16R 48605-35121 LOWER R HILUX 88-95 4PCS
  
  

CQT-16L 48606-35121 LOWER L HILUX 88-95 4PCS
  
  

CQT-19R 48068-12300 LOWER R AURIS 06-12 4PCS
SCION XB 08-
SCION TC 11-
PRIUS V 12-
LEXUS HS250H 10-12

CQT-19L 48069-12300 LOWER L AURIS 06-12 4PCS
SCION XB 08-
SCION TC 11-
PRIUS V 12-
LEXUS HS250H 10-12

CQT-20R 48068-60010 LOWER R 4RUNNER  03-09 4PCS
LEXUS GX470 03-09
FJ CRUISER 07-09
HILUX SURF 03-09
LAND CRUISER PRADO 03-09

CQT-20L 48069-60010 LOWER L 4RUNNER  03-09 4PCS
LEXUS GX470 03-09
FJ CRUISER 07-09
HILUX SURF 03-09
LAND CRUISER PRADO 03-09

CQT-21R 48610-04010 UPPER R TACOMA GRN2##, TRN2## 04- 4PCS
48610-0K010 ☆ X-RUNNER 04-

HILUX 04-12
CQT-21L 48630-04010 UPPER L TACOMA GRN2##, TRN2## 04- 4PCS

48630-0K010 ☆ X-RUNNER 04-
HILUX 04-12

CQT-22R 48068-12171 LOWER R COROLLA SED/CP/WG 91-01 4PCS

CQT-22L 48069-12171 LOWER L COROLLA SED/CP/WG 91-01 4PCS

CQT-23 48066-34030 FRONT HILUX KZN165, RZN200, VZN85 88-04 4PCS
PICK UP RZN, YN, VZN14#,15#,16#,17#,19# 89-95
T100 PICK UP YN8#, 9#, 1##, LN8#, 90, 1##, 200 93-98
 KDN1##, KZN130, RCK10,  

RN1#, 8#, 90, 12#, RZN200, VCK1#,2#
CQT-24R 48068-0K010 LOWER R HILUX VIGO GGN15, 25, 35, KUN1#, 2#, 3#, 40 05-08 4PCS

LAN15, 25, 35, TGN1#, 26, 36, 4#

CQT-24L 48069-0K010 LOWER L HILUX VIGO GGN15, 25, 35, KUN1#, 2#, 3#, 40 05-08 4PCS
LAN15, 25, 35, TGN1#, 26, 36, 4#

CQT-25R 48068-0K040 LOWER R HILUX VIGO 4WD GGN15, 25, 35, KUN1#, 2#, 3#, 40 07- 4PCS
LAN15, 25, 35, TGN1#, 26, 36, 4#

CQT-25L 48069-0K040 LOWER L HILUX VIGO 4WD GGN15, 25, 35, KUN1#, 2#, 3#, 40 07- 4PCS
LAN15, 25, 35, TGN1#, 26, 36, 4#

NISSAN
CTR NO OEM NO CONTENTS CAR NAME MODEL YEAR MOQ

CQN-2R 54500-4M400 ◈ LOWER R SENTRA  95-03 4PCS
54500-4M410 SUNNY 95-03

ALMERA 00-
CQN-2L 54501-4M400 ◈ LOWER L SENTRA  95-03 4PCS

54501-4M410 SUNNY 95-03
ALMERA 00-

CQN-3R 54500-2F500 LOWER R PRIMERA P11 96-02 4PCS

CQN-3L 54501-2F500 LOWER L PRIMERA P11 96-02 4PCS

CQN-6R 54500-2Y412 ◈ LOWER R MAXIMA 00-03 4PCS
54500-2Y411 INFINITI I30 00-01

INFINITI I35 02-04
CQN-6L 54501-2Y412 ◈ LOWER L MAXIMA 00-03 4PCS

54501-2Y411 INFINITI I30 00-01
INFINITI I35 02-04



CONTROL ARM

NISSAN
CQN-7R 54500-0E001 ◈ LOWER R BLUE BIRD 91-95 4PCS

54500-2B010 STANZA ALTIMA 92-97

CQN-7L 54501-0E001 ◈ LOWER L BLUE BIRD 91-95 4PCS
54501-2B010 STANZA ALTIMA 92-97

CQN-8R 54500-52Y70 ◈ LOWER R SENTRA B13 90-94 4PCS
54500-52Y60 NX COUPE B13 90-93
54500-52Y15 SUNNY WAGON 90-00
54500-52Y10 AD WAGON Y10 90-99

CQN-8L 54501-52Y70 ◈ LOWER L SENTRA B13 90-94 4PCS
54501-52Y60 NX COUPE B13 90-93
54501-52Y15 SUNNY WAGON 90-00
54501-52Y10 AD WAGON Y10 90-99

CQN-9R 54500-65A00 ◈ LOWER R SUNNY B12 86-90 4PCS
54500-50A00 SENTRA  86-90

PULSAR NX N13 86-90
CQN-9L 54501-65A00 ◈ LOWER L SUNNY B12 86-90 4PCS

54501-50A00 SENTRA  86-90
PULSAR NX N13 86-90

CQN-10R 54500-1FU0B ◈ LOWER R CUBE Z12 08- 4PCS
54500-1FU0A NV200 M20, M20M 09-
54500-1JY0A AD / AD EXPERT VY12 06-
54500-EW000 LIVINA X-GEAR L11W 14-
54500-EL00D ☆ SYLPHY G11L 08-

TIIDA / VERSA C11, C11S, SC11S 04-12
CLIO 06-

CQN-10L 54501-1FU0B ◈ LOWER L CUBE Z12 08- 4PCS
54501-1FU0A NV200 M20, M20M 09-
54501-1JY0A AD / AD EXPERT VY12 06-
54501-EW000 LIVINA X-GEAR L11W 14-
54501-EL00D ☆ SYLPHY G11L 08-

TIIDA / VERSA C11, C11S, SC11S 04-12
CLIO 06-

CQN-11R 54500-JG00B LOWER R ROGUE S35 08-13 4PCS

CQN-11L 54501-JG00B LOWER L ROGUE S35 08-13 4PCS

CQN-12R 54500-86J00 LOWER R PRIMERA 90-98 4PCS

CQN-12L 54501-86J00 LOWER L PRIMERA 90-98 4PCS

CQN-13R 54500-VW000 LOWER R URVAN 02-07 4PCS

CQN-13L 54501-VW000 LOWER L URVAN 02-07 4PCS

CQN-14R 54500-9W20C LOWER R TEANA J31 03-08 4PCS

CQN-14L 54501-9W20C LOWER L TEANA J31 03-08 4PCS

MITSUBISHI
CTR NO OEM NO CONTENTS CAR NAME MODEL YEAR MOQ

CQM-12R MR376528 UPPER R DELICA SPACE GEAR 94-06 4PCS
L400 94-02

CQM-12L MR376527 UPPER L DELICA SPACE GEAR 94-06 4PCS
L400 94-02

CQM-13R MB598548 UPPER R DELICA STAR WAGON/VAN 86-99 4PCS
L300 86-13

CQM-13L MB598547 UPPER L DELICA STAR WAGON/VAN 86-99 4PCS
L300 86-13



CONTROL ARM

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ
CQMZ-9 BBM2-28-C10 ◈ REAR R/L MAZDA 3 06- 4PCS

BBM2-28-C10B MAZDA 5 07-
AXELA SEDAN & SPORTS 06-
BIANTE 08-
PREMACY 07-
MAZDA INSTRUCTION CAR 06-

HONDA
CTR NO OEM NO CONTENTS CAR NAME MODEL YEAR MOQ

CQHO-31R 51350-SAA-G02 LOWER R JAZZ 02-08 4PCS
 

CQHO-31L 51360-SAA-G02 LOWER L JAZZ 02-08 4PCS
 

CQHO-36R 51450-SM4-023◈ UPPER R ACCORD 90-94 4PCS
51450-SM1-A02

CQHO-36L 51460-SM4-023◈ UPPER L ACCORD 90-94 4PCS
51460-SM1-A02

CQHO-37R 51350-S04-A10 ◈ LOWER R CIVIC 96-00 4PCS
51350-S04-G00

CQHO-37L 51360-S04-A10 ◈ LOWER L CIVIC 96-00 4PCS
51360-S04-G00

CQHO-38R 51450-SFE-003 UPPER R ODYSSEY RB1 03- 4PCS

CQHO-38L 51460-SFE-003 UPPER L ODYSSEY RB1 03- 4PCS

CQHO-39R 51350-SNA-A03 LOWER R CIVIC 06-11 4PCS
51350-SNA-903 ☆ CIVIC HYBRID 06-11

CQHO-39L 51360-SNA-A03 LOWER L CIVIC 06-11 4PCS
51360-SNA-903 ☆ CIVIC HYBRID 06-11

CQHO-40R 51350-TA0-A00 LOWER R ACCORD EX, LX, SE 08- 4PCS
ACURA TSX 11-

CQHO-40L 51360-TA0-A00 LOWER L ACCORD EX, LX, SE 08- 4PCS
ACURA TSX 11-

CQHO-41R 51350-SFE-000 LOWER R ODYSSEY RL3 05-09 4PCS

CQHO-41L 51360-SFE-000 LOWER L ODYSSEY RL3 05-09 4PCS

CQHO-42R 51350-S2H-G02 LOWER R HR-V 99- 4PCS
HR-V 4WD

CQHO-42L 51360-S2H-G02 LOWER L HR-V 99- 4PCS
HR-V 4WD

CQHO-44R 51350-S5A-A10 LOWER R CIVIC EM2/ES 00-05 4PCS

CQHO-44L 51360-S5A-A10 LOWER L CIVIC EM2/ES 00-05 4PCS

MAZDA



CONTROL ARM

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ
CQKH-102R 54501-2S000 ◈ FRONT LOWER R TUCSON IX   09-13 4PCS

54501-2S100 09-13
54501-2S500 13-
54501-2S600 13-

CQKH-102L 54500-2S000 ◈ FRONT LOWER L TUCSON IX   09-13 4PCS
54500-2S100 09-13
54500-2S500 13-
54500-2S600 13-

CQKH-103R 54501-35210 ◈ FRONT LOWER R MARCIA 95- 4PCS
54501-35200 SONATA 3 95-
54501-35100

CQKH-103L 54500-35210 ◈ FRONT LOWER L MARCIA 95- 4PCS
54500-35200 SONATA 3 95-
54500-35100

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ
CQKH-102R 54501-2Y000 FRONT LOWER-R SPORTAGE R 10-13 4PCS

CQKH-102L 54500-2Y000 FRONT LOWER-L SPORTAGE R 10-13 4PCS

CQKK-35R 54501-4D000 ◈ FRONT LOWER-R 05-14 4PCS
54501-4D001
54501-4D002
54501-4D102

CQKK-35L 54500-4D000 ◈ FRONT LOWER-L 05-14 4PCS
54500-4D001
54500-4D002
54500-4D102

CQKK-65R 54401-3T050 FRONT UPPER-FRT R K900 (USA) 15- 4PCS

CQKK-65L 54400-3T050 FRONT UPPER-FRT L K900 (USA) 15- 4PCS

CQKK-66R 54406-3T050 FRONT UPPER-RR R K900 (USA) 15- 4PCS

CQKK-66L 54405-3T050 FRONT UPPER-RR L K900 (USA) 15- 4PCS

CQKK-67R 54501-1D000 ◈ FRONT LOWER R CARENS (RONDO) 06- 4PCS
54501-1D100
54501-1D300

CQKK-67L 54500-1D000 ◈ FRONT LOWER L CARENS (RONDO) 06- 4PCS
54500-1D100
54500-1D300

GM KOREA
CTR NO OEM NO CONTENTS CAR NAME MODEL YEAR MOQ

CQKD-17 46200-50A01 ◈ REAR TRAILING TICO 91-01 5PCS
96318362 MATIZ 98-

KIA

HYUNDAI

GRAND CARNIVAL(SEDONA, ENTOURAGE)

GRAND CARNIVAL(SEDONA, ENTOURAGE)



TOYOTA
CTR NO OEM NO CONTENTS CAR NAME MODEL YEAR MOQ

CET-201R 45046-09720 OUTER R VIOS XP150 13- 36PCS
M14 X 1.5 YARIS NSP152 13- (50/2PCS)

CET-201L 45047-09370 OUTER L VIOS XP150 13- 36PCS
M14 X 1.5 YARIS NSP152 13- (50/2PCS)

CET-202R 45046-09681 OUTER R ETIOS NGK1#,NUK1# 11- 36PCS
M12 X 1.25 (50/2PCS)

CET-202L 45047-09341 OUTER L ETIOS NGK1#,NUK1# 11- 36PCS
M12 X 1.25 (50/2PCS)

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CEN-145R D8640-1HK0A OUTER R VERSA SEDAN 12- 25PCS
OUTER L VERSA NOTE 14- (34/2PCS)
M12 X 1.25

CEN-145L D8520-1HK0A OUTER L VERSA SEDAN 12- 25PCS
OUTER R VERSA NOTE 14- (34/2PCS)
M12 X 1.25

CEN-146R D8520-3TA0A OUTER R ALTIMA 13- 12PCS
M14 X 1.5 (24/2PCS)

CEN-146L D8640-3TA0A OUTER L ALTIMA 13- 12PCS
M14 X 1.5 (24/2PCS)

CEN-147R D8520-3KA0B OUTER R INFINITI QX60 14- 12PCS
M16 X 1.5 INFINITI JX35 13- (24/2PCS)

PATHFINDER 13-
MURANO 15-

CEN-147L D8640-3KA0A OUTER L INFINITI QX60 14- 12PCS
M16 X 1.5 INFINITI JX35 13- (24/2PCS)

PATHFINDER 13-
MURANO 15-

MAZDA
CTR NO OEM NO CONTENTS CAR NAME MODEL YEAR MOQ

CEMZ-65R GHT2-32-280 OUTER R MAZDA 3 14- 25PCS
M14 X 1.5 MAZDA 6 14- (34/2PCS)

CEMZ-65L GHT2-32-290 ◈ OUTER L MAZDA 3 14- 25PCS
GJR9-32-290 M14 X 1.5 MAZDA 6 14- (34/2PCS)

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CEHO-54R 53540-TY2-A01 OUTER R ACURA RLX 14- 25PCS

M14 X 1.5  (34/2PCS)

CEHO-54L 53560-TY2-A01 OUTER L ACURA RLX 14- 25PCS

M14 X 1.5  (34/2PCS)

CEHO-57R 53540-TP6-A01 OUTER R ACCORD CROSSTOUR 10- 25PCS
M14 X 1.5 (34/2PCS)

CEHO-57L 53560-TP6-A01 OUTER L ACCORD CROSSTOUR 10- 25PCS
M14 X 1.5 (34/2PCS)

CEHO-58R 53540-TZ5-A01 OUTER R ACURA MDX 14- 20PCS
M14 X 1.5 (34/2PCS)

CEHO-58L 53560-TZ5-A01 OUTER L ACURA MDX 14- 20PCS
M14 X 1.5 (34/2PCS)

HONDA

NISSAN

TIE ROD END



HYUNDAI
CTR NO OEM NO CONTENTS CAR NAME MODEL YEAR MOQ

CEKH-52R 56890-5H001 MALE RHT MIGHTY 13- 12PCS
M22 X 1.5 (24/2PCS)

CEKH-52L 56880-5H001 MALE LHT MIGHTY 13- 12PCS
M22 X 1.5 (24/2PCS)
 

CEKH-54R 56820-B1550 FEMALE RHT GENESIS DH AWD 14- 20PCS
M14 X 1.5 (34/2PCS)

CEKH-54L 56820-B1500 FEMALE RHT GENESIS DH AWD 14- 20PCS
M14 X 1.5 (34/2PCS)

KIA
CTR NO OEM NO CONTENTS CAR NAME MODEL YEAR MOQ

CEKK-39R 56821-A9000 FEMALE RHT CARNIVAL   14- 10PCS
M16 X 1.5 (20/2PCS)

CEKK-39L 56820-A9000 FEMALE RHT CARNIVAL 14- 10PCS
M16 X 1.5 (20/2PCS)

CEKK-40R 56820-3T290 FEMALE RHT EQUUS 14- 12PCS
M16 X 1.5 (24/2PCS)

CEKK-40L 56820-3T200 FEMALE RHT EQUUS 14- 12PCS
M16 X 1.5 (24/2PCS)

SSANGYONG
CTR NO OEM NO CONTENTS CAR NAME MODEL YEAR MOQ

CEKS-15R 46660-35050 FEMALE RHT TIVOLI X-100 15- 20PCS
M14 X 1.5 (34/2PCS)

CEKS-15L 46660-35000 FEMALE RHT TIVOLI X-100 15- 20PCS
M14 X 1.5 (34/2PCS)

SAMSUNG-RENAULT
CTR NO OEM NO CONTENTS CAR NAME MODEL YEAR MOQ

CESS-6R 48520-8355R FEMALE RHT QM3 14- 20PCS
M14 X 1.5   (24/2PCS)

CESS-6L 48520-0368R FEMALE RHT QM3 14- 20PCS
M14 X 1.5 (24/2PCS)

CESS-7R 48520-0604R FEMALE RHT QM5 H45 15- 25PCS
M14 X 1.5 (34/2PCS)

CESS-7L 48520-7812R FEMALE RHT QM5 H45 15- 25PCS
M14 X 1.5 (34/2PCS)

CESS-8 46490-51310K0 FEMALE RHT SM5 03- 36PCS
M14 X 1.5 (50/2PCS)

TIE ROD END



GM
CTR NO OEM NO CONTENTS CAR NAME MODEL YEAR MOQ

CEG-13 15869897 R/L BUICK ENCLAVE LAMBDA 08- 10PCS
M16 X 1.5 CEHVROLET TRAVERSE 09- (20/2PCS)

GMC ACADIA 07-
SATURN OUTLOOK 07-10

FORD
CTR NO OEM NO CONTENTS CAR NAME MODEL YEAR MOQ

CEF-29 AL243290AA ◈ MALE RHT EXPLORER U251 06-10 20PCS
AL2Z-3A130-A M14 X 1.5 EXPLORER SPORT TRAC P251 07-10 (36/2PCS)

 MOUNTAINEER / MERCURY 06-10

RENAULT
CTR NO OEM NO CONTENTS CAR NAME MODEL YEAR MOQ

CERE-1 55226-8679R OUTER R/L TWIZY 12- 36PCS
 M14 X 1.5 (50/2PCS)
 

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CEVW-1R 1K0 423 812 K ◈ R AUDI Q3 12-15 36PCS
1K0 423 812 A AUDI RSQ3 14-15 (50/2PCS)
1K0 423 812 B SEAT ALHAMBRA 11-15
1K0 423 812 C SEAT LEON / LEON4 11-15
1K0 423 812 E SKODA OCTAVIA 09-15
1K0 423 812 G SKODA SUPERB 08-15
1K0 423 812 J SKODA YETI 10-15

VOLKSWAGEN BETTLE 12-15
CABRIO / CONVERTIBLE
VOLKSWAGEN CADDY 04-15
VOLKSWAGEN CC 12-15
VOLKSWAGEN JETTA 11-15
VOLKSWAGEN PASSAT 06-15
VOLKSWAGEN PASST CC 09-12
VOLKSWAGEN SANTANA 06-15
VOLKSWAGEN TIGUAN 09-15
VOLKSWAGEN 4MOTION 06-15

CEVW-1L 1K0 423 811 K ◈ L AUDI Q3 12-15 36PCS
1K0 423 811 A AUDI RSQ3 14-15 (50/2PCS)
1K0 423 811 B SEAT ALHAMBRA 11-15
1K0 423 811 C SEAT LEON / LEON4 11-15
1K0 423 811 E SKODA OCTAVIA 09-15
1K0 423 811 G SKODA SUPERB 08-15
1K0 423 811 J SKODA YETI 10-15

VOLKSWAGEN BETTLE 12-15
CABRIO / CONVERTIBLE
VOLKSWAGEN CADDY 04-15
VOLKSWAGEN CC 12-15
VOLKSWAGEN JETTA 11-15
VOLKSWAGEN PASSAT 06-15
VOLKSWAGEN PASST CC 09-12
VOLKSWAGEN SANTANA 06-15
VOLKSWAGEN TIGUAN 09-15
VOLKSWAGEN 4MOTION 06-15

VOLKSWAGEN

TIE ROD END



CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CLN-64 54618-VB000 FRONT R/L SAFARI 97-07 40PCS
M12 X 1.25 (80/2PCS)
M10 X 1.25

CLN-67R 56261-7S001 REAR R ALMADA 04- 40PCS
M12 X 1.25 INFINITI QX56 04-10 (80/2PCS)

CLN-67L 56261-7S011 REAR L ALMADA 04- 40PCS
M12 X 1.25 INFINITI QX56 04-10 (80/2PCS)

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ
CLS-12 46630-60B01 REAR AERIO 02-03 25PCS

M10 X 1.25 SWIFT 89-94 (50/2PCS)
 95-01

ESTEEM 95-02

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CLHO-74 52320-S3N-013 REAR R/L ODYSSEY RA6 99-03 25PCS

M10 X 1.25 (50/2PCS)

CLHO-85R 52320-STX-A02 FRONT R PILOT 09-13 25PCS
M10 X 1.25 AUCRA MDX 07-13 (50/2PCS)

ACURA ZDX 10-13
CLHO-85L 52325-STX-A02 FRONT L PILOT 09-13 25PCS

M10 X 1.25 AUCRA MDX 07-13 (50/2PCS)
ACURA ZDX 10-13

CLHO-86R 52320-TP6-A01 REAR R ACCORD CROSSTOUR 10- 25PCS
M10 X 1.25 (50/2PCS)

CLHO-86L 52325-TP6-A01 REAR L ACCORD CROSSTOUR 10- 25PCS
M10 X 1.25 (50/2PCS)

KIA
CTR NO OEM NO CONTENTS CAR NAME MODEL YEAR MOQ

CLKK-43R 54840-3T000 FRONT R K900 (USA) 15- 10PCS
M12 X 1.25 (20/2PCS)

CLKK-43L 54830-3T000 FRONT L K900 (USA) 15- 10PCS
M12 X 1.25 (20/2PCS)

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ
CLKS-9 44750-35000 FRONT TIVOLI X-100  15- 16PCS

(32/2PCS)

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ
CLSS-9 55110-7916R FRONT R/L QM3  14- 10PCS

M10 X 1.25 (20/2PCS)

STABILIZER LINK

SSANGYONG

SAMSUNG-RENAULT

HONDA

NISSAN

SUZUKI



TOYOTA
CTR NO OEM NO CONTENTS CAR NAME MODEL YEAR MOQ

CRT-112 45503-0D041 R/L ETIOS NGK1#,NUK1# 11- 20PCS
M14 X 1.5
M12 X 1.25

CRT-113 45503-29425 R/L DYNA KDY2##, LY2##, RZY2##, TRY2## 01-11 32PCS
M18 X 1.5
M18 X 1.5

CRT-114 45503-60040 R/L 4RUNNER  GRN28#, TRN28# 09.08- 20PCS
M24 X 1.5 LAND CRUISER PRADO GRJ15#, KDJ15#, LJ150, TRJ15# 09.08-
M16 X 1.5  GRJ150L-GKA*KC 10.05-
 LEXUS GX400/460 GRJ158, URJ150 09.11-

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CRN-63 D8521-1HA0A R/L NOTE 12- 32PCS
M14 X 1.5
M12 X 1.25

CRN-64 D8E21-1CA0D R/L INFINITI QX70 14- 36PCS
D8521-1CA0D M18 X 1.5 INFINITI FX35/37/50 12-13

M14 X 1.5
CRN-65 D8E21-1CA0A R/L INFINITI FX35/50 09-11 36PCS

D8521-1CA0A M18 X 1.5
M14 X 1.5

CRN-66 D8E21-1JA0A R/L QUEST 11- 20PCS
D8521-1JA0A M16 X 1.0

M16 X 1.5

MITSUBISHI
CTR NO OEM NO CONTENTS CAR NAME MODEL YEAR MOQ

CRM-33 4422A036 R/L PAJERO V83W 06- 40PCS
M16 X 1.5    
M16 X 1.5

CRM-37 4422A076 R/L OUTLANDER 14- 20PCS
M14 X 1.5 OUTLANDER SPORT/RVR 11-14
M14 X 1.5 LANCER FWD 11-

MAZDA
CTR NO OEM NO CONTENTS CAR NAME MODEL YEAR MOQ

CRMZ-57 KD31-32-240A R/L CX-5 13- 20PCS
M14 X 1.5
M14 X 1.5

CRMZ-58 GHT2-32-240A R/L MAZDA 3 14- 32PCS
MAZDA 6 14-

HONDA
CTR NO OEM NO CONTENTS CAR NAME MODEL YEAR MOQ

CRHO-63 53010-T2A-A01 R/L ACCORD 4CYL 13- 40PCS
M20 X 1.5
M14 X 1.5

CRHO-64 53010-T2B-A01 R/L ACCORD 6CYL 13- 40PCS
M18 X 1.5
M14 X 1.5

CRHO-65 53610-TZ5-A01 R/L ACURA MDX 14- 32PCS
M18 X 1.5
M14 X 1.5

NISSAN

RACK END



HYUNDAI
CTR NO OEM NO CONTENTS CAR NAME MODEL YEAR MOQ

CRKH-51 57724-B1200 MALE RHT GENESIS 2WD 14- 20PCS
M16 X 1.5
M14 X 1.5

CRKH-52 57724-B1400 MALE RHT GENESIS AWD 14- 32PCS
M16 X 1.5
M14 X 1.5

KIA
CTR NO OEM NO CONTENTS CAR NAME MODEL YEAR MOQ

CRKK-45 57724-1Y500◈ MALE RHT RAY 12- 40PCS
57724-1Y501 M20 X 1.5 MORING (PICANTO) 11-

M14 X 1.5
CRKK-46 56540-A7000 MALE RHT K3 13- 32PCS

M16 X 1.5 FORTE 14-
M16 X 1.5

CRKK-47 56540-A6000 MALE RHT C'EED 12- 32PCS
M16 X 1.5  
M16 X 1.5

CRKK-48 57724-A9000 MALE RHT CARNIVAL 14- 32PCS
M16 X 1.5
M16 X 1.5

CRKK-49 56540-B2000 MALE RHT SOUL 13- 32PCS
M16 X 1.5
M16 X 1.5

CRKK-50 57724-C5000 MALE RHT SORENTO UM 15- 32PCS
M16 X 1.5
M16 X 1.5

CRKK-51 57724-1Y600 MALE RHT MORNING 15- 36PCS
M16 X 1.5
M14 X 1.5

GM KOREA
CTR NO OEM NO CONTENTS CAR NAME MODEL YEAR MOQ

CRKD-17 95192778 MALE RHT SPARK 13- 32PCS
M16 X 1.5
M12 X 1.25

CRKD-18 93740701 MALE RHT TOSCA  06- 20PCS
M16 X 1.5
M14 X 1.5

SSANGYONG
CTR NO OEM NO CONTENTS CAR NAME MODEL YEAR MOQ

CRSS-2R 46470-31020 R SM3 02-08 20PCS
M16 X 1.0
M14 X 1.5

CRSS-5 48023-6085R R/L SM3 10- 32PCS
M14 X 1.5
M14 X 1.5

CRSS-7 46470-52000 R/L SM7 04- 32PCS
M18 X 1.5
M14 X 1.5

SAMSUNG-RENAULT
CTR NO OEM NO CONTENTS CAR NAME MODEL YEAR MOQ

CRSS-6 48521-1071R R/L QM3 14- 32PCS
M16 X 1.5
M14 X 1.5

CRSS-9 46412-51300 R/L SM5  98- 20PCS
M16 X 1.0
M14 X 1.5

PEUGEOT
CTR NO OEM NO CONTENTS CAR NAME MODEL YEAR MOQ

CRPU-1 3812.C5 R/L 206 98- 20PCS
M14 X 1.5

 M14 X 1.5

RACK END



CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CZKD-1 90250437 ENGINE MOUNT (AUTO) LEMANS 86-97 12PCS
LANOS 98-02

CZKD-2 90250348 ENGINE MOUNT (MANUAL) LEMANS 86-97 12PCS
LANOS 98-02

CZKD-3 96227422 TRANSMISSION MOUNT LEMANS 86-97 12PCS
LANOS 98-02

MOUNT

GM KOREA



* ADDITIONAL APPLICATION IS THE NEW OEM NUMBERS WHICH CAN BE COMMON USED WITH CURRENT CTR PRODUCTS

WITH GOOD PERFORMANCES.

THE OEM NUMBERS AND OTHER APPLICATIONS WITH MARK ☆ ARE NEW APPLICATIONS AND WERE NOT INCLUDED

IN LAST VERSIONS OF CTR PARTS CATALOGUES, AND THOSE ARE NEWLY ADDED INTO CTR APPLICATIONS.

BALL JOINT

SSANGYONG
CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CBKS-6 45935-09000 ◈ FRONT UPPER KYRON 05- 40PCS
45935-09001 ACTYON 06-

HOLDEN
CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CBHD-19 92225044 PILLOW BALL COMMODORE VE 08- 50PCS
CHEVROLET SS 14-
CHEVROLET CAPRICE 11-

CONTROL ARM

TOYOTA
CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CQT-10R 48068-48041 LOWER R LEXUS RX350 10- 4PCS
48068-0T011 ☆ LEXUS RX450H 10-

HIGHLANDER 08-10
HIGHLANDER HYBRID 08-13
HIGHLANDER KLUAER 08-

CQT-10L 48069-48041 LOWER L LEXUS RX350 10- 4PCS
48069-0T011 ☆ LEXUS RX450H 10-

HIGHLANDER 08-10
HIGHLANDER HYBRID 08-13
HIGHLANDER KLUAER 08-

CQT-21R 48610-04010 UPPER R TACOMA GRN2##, TRN2## 04- 4PCS
48610-0K010 ☆ X-RUNNER 04-

HILUX 04-12
CQT-21L 48630-04010 UPPER L TACOMA GRN2##, TRN2## 04- 4PCS

48630-0K010 ☆ X-RUNNER 04-
HILUX 04-12

NISSAN
CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CQN-10R 54500-1FU0B ◈ LOWER R CUBE Z12 08- 4PCS
54500-1FU0A NV200 M20, M20M 09-
54500-1JY0A AD / AD EXPERT VY12 06-
54500-EW000 LIVINA X-GEAR L11W 14-
54500-EL00D ☆ SYLPHY G11L 08-

TIIDA / VERSA C11, C11S, SC11S 04-12
CLIO 06-

CQN-10L 54501-1FU0B ◈ LOWER L CUBE Z12 08- 4PCS
54501-1FU0A NV200 M20, M20M 09-
54501-1JY0A AD / AD EXPERT VY12 06-
54501-EW000 LIVINA X-GEAR L11W 14-
54501-EL00D ☆ SYLPHY G11L 08-

TIIDA / VERSA C11, C11S, SC11S 04-12
CLIO 06-

ADDITIONAL APPLICATION



CONTROL ARM

MAZDA
CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CQMZ-2R GG2A-34-300C◈ LOWER R MAZDA 626 00-02 4PCS
GD7A-34-300B  98-99
GE4T-34-300E ☆ CAPELLA 97-02

CQMZ-2L GG2A-34-350C◈ LOWER L MAZDA 626 00-02 4PCS
GD7A-34-350B  98-99
GE4T-34-350E ☆ CAPELLA 97-02

CQMZ-6R GK2A-34-200C UPPER R MAZDA 6 03-05 4PCS
GR8C-34-200 06-08
GV2W-34-200 ☆ 02-08

CQMZ-6L GK2A-34-250C UPPER L MAZDA 6 03-05 4PCS
GR8C-34-250 06-08
GV2W-34-250 ☆ 02-08

HONDA
CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CQHO-17R 52390-SM4-A04 ◈ UPPER R ACCORD CB1, CB3, CB4, CB5 89-93 4PCS
52390-SM4-043 REAR CC7 93-96
52390-SM4-033 CD7, CD8 96-97
52390-SM1-A03 ACURA 2.5TL 95-98
52390-SM1-A04
52390-SM5-A03 ☆  

CQHO-17L 52400-SM4-A04 ◈ UPPER L ACCORD CB1, CB3, CB4, CB5 89-93 4PCS
52400-SM4-043 REAR CC7 93-96
52400-SM4-033 CD7, CD8 96-97
52400-SM1-A03 ACURA 2.5TL 95-98
52400-SM1-A04
52400-SM5-A03 ☆  

CQHO-21R 51350-SDA-A03◈ LOWER R ACCORD 4CYL 03-08 4PCS
51350-SEA-E01 ☆   

  
CQHO-21L 51360-SDA-A03◈ LOWER L ACCORD 4CYL 03-08 4PCS

51360-SEA-E01 ☆   
  

CQHO-39R 51350-SNA-A03 LOWER R CIVIC 06-11 4PCS
51350-SNA-903 ☆ CIVIC HYBRID 06-11

CQHO-39L 51360-SNA-A03 LOWER L CIVIC 06-11 4PCS
51360-SNA-903 ☆ CIVIC HYBRID 06-11

KIA
CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CQKK-58R  54501-07160◈ FRONT LOWER-R MORNING (PICANTO) 08-11 4PCS
54501-07161 ☆

CQKK-58L 54500-07160◈ FRONT LOWER-L MORNING (PICANTO) 08-11 4PCS
54500-07161 ☆



TIE ROD END

TOYOTA
CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CET-184 45046-BZ050 OUTER R AVANZA F601 03-11 12PCS
45046-BZ120 ☆ M12 X 1.25 AVANZA F651 11- (24/2PCS)

XENIA
CET-185 45047-BZ050 OUTER L AVANZA F601 03-11 12PCS

45047-BZ120 ☆ M12 X 1.25 AVANZA F651 11- (24/2PCS)
XENIA

HYUNDAI
CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CEKH-42R 56820-3M950 FEMALE RHT GENESIS 07-14 25PCS
56820-B1250 ☆ M14 X 1.5 GENESIS 14- (34/2PCS)

EQUUS 09-
CEKH-42L 56820-3M900 FEMALE RHT GENESIS 07-14 25PCS

56820-B1200 ☆ M14 X 1.5 GENESIS 14- (34/2PCS)
EQUUS 09-

CEKH-45R 56820-3Q500 ◈ FEMALE RHT YF SONATA 10- 12PCS
56820-2T500 M16 X1.5 HG GRANDEUR 10-11 (24/2PCS)
56820-2T100 i40 11-
56820-2S050 TUCSON IX 09-
56820-3S500 YF SONATA 09-10
56820-3V100 AZERA 12-13
56820-3Z290 ☆ i40 15-

CEKH-45L 56820-3Q000 ◈ FEMALE RHT YF SONATA 10- 12PCS
56820-2T000 M16 X1.5 HG GRANDEUR 10-11 (24/2PCS)
56820-2T190 i40 11-
56820-2S000  TUCSON IX 09-
56820-3S000 YF SONATA 09-10
56820-3V190 AZERA 12-13
56820-3Z200 ☆ i40 15-

CEKH-48R 56820-A5090 ◈ FEMALE RHT AVANTE MD 10- 12PCS
56820-3X090 M16 X 1.5 i30 12- (24/2PCS)
56820-A6090 VELOSTER 11-
56820-B2050 ☆ SOUL 13.10-

CEKH-48L 56820-A5000 ◈ FEMALE RHT AVANTE MD 10- 12PCS
56820-3X000 M16 X 1.5 i30 12- (24/2PCS)
56820-A6000  VELOSTER 11-
56820-B2000 ☆  SOUL 13.10-

KIA
CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CEKK-14R K850-32-450 FEMALE RHT RHINO 88- 10PCS
(CEKA-14R) M27 X 1.5 COSMOS 89- (16/2PCS)

WIDE BOXER 92-
CEKK-14L K850-32-510 FEMALE LHT RHINO 88- 10PCS
(CEKA-14L) M27 X 1.5 COSMOS 89- (16/2PCS)

WIDE BOXER 92-

GM KOREA
CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CEKD-13R 93740723 ◈ FEMALE RHT KALOS(AVEO,WAVE,SWIFT,BARINA) 02-05 25PCS
93740623 ☆ M12 X 1.5 CHEVROLET AVEO 05-11 (34/2PCS)

CHEVROLET GENTRA T250 07-
CEKD-13L 93740722 ◈ FEMALE RHT KALOS(AVEO,WAVE,SWIFT,BARINA) 02-05 25PCS

93740622 ☆ M12 X 1.5 CHEVROLET AVEO 05-11 (34/2PCS)
CHEVROLET GENTRA T250 07-



RACK END

CTR NO OEM NO CONTENTS CAR NAME MODEL YEAR MOQ
CRMZ-26 GA2A-32-240◈ R CRONOS GE8P 91-97 20PCS
(CRMZ-27) GA2A-32-250 L MAZDA 626 93-02

GA2A-32-240A ☆ M18 X 1.5 MX6 93-97
M14 X 1.5

CRMZ-30 FD01-32-240A◈ R/L SAVANNA RX7 93-95 20PCS
FD01-32-240 ☆ M14 X 1.5 RX7 93-95
FD01-32-240B ☆ M12 X 1.25

HYUNDAI
CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CRKH-50 57724-C1000 ◈ MALE RHT LF SONATA 14- 32PCS
57724-3Z100 ☆ M16 X 1.5 LF SONATA HYBRID 14-

M16 X 1.5 i40 15-

GM
CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CRG-5 7820249831 ◈ MALE RHT SATURN VUE GMT319 07- 20PCS
19207056 ☆ M16 X 1.5 CHEVROLET EQUINOX 10-

M14 X 1.5 TERRAIN DENALI 13-
TERRAIN 10-

FORD
CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CRF-5 7L2Z-3280-A ◈ M16 x 1.5 EXPLORER U251 06-10 20PCS
VP6L2C-3280-AE M14 x 1.5 EXPLORER SPORT TRAC P251 07-10
6L2Z 3280 A ☆ MOUNTAINEER / MERCURY 06-10

STABILIZER LINK

HYUNDAI
CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CLKH-45R 55540-3R000 ◈ REAR R YF SONATA 10- 25PCS
55540-2Z000 ☆ M12 X 1.25 YF HYBRID 11- (50/2PCS)
55540-3Z001 ☆ HG GRANDEUR 11-

i40 (SOFT SUSPENSION) 11-
i40 (SOFT SUSPENSION) 15-
TUCSON IX 2WD 09-

CLKH-45L 55530-3R000 ◈ REAR L YF SONATA 10- 25PCS
55530-2Z000 ☆ M12 X 1.25 YF HYBRID 11- (50/2PCS)
55530-3Z001 ☆ HG GRANDEUR 11-

I40 (SOFT SUSPENSION) 11-
i40 (SOFT SUSPENSION) 15-
TUCSON IX 2WD 09-

GM KOREA
CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CLKD-15R 96626248 ◈ FRONT R WINSTORM (CAPTIVA, ANTARA) 06- 10PCS
96996451 M12 X 1.75 TRAX 12- (20/2PCS)
95488871
95942520 ☆

CLKD-15L 96626247 ◈ FRONT L WINSTORM (CAPTIVA, ANTARA) 06- 10PCS
96996450 M12 X 1.75 TRAX 12- (20/2PCS)
95488870
95942519 ☆

GM
CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CLG-8 15127978◈ M12 X 1.75 BUICK ENCLAVE LAMBDA 08- 10PCS

20905104 ☆ CEHVROLET TRAVERSE 09- (20/2PCS)

GMC ACADIA 07-

SATURN OUTLOOK 07-10

MAZDA



* INFORMATION WAS CHANGED AS FOLLOWS

CONTROL ARM

HYUNDAI
CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CQKH-80R 54501-2H000 ◈ FRONT LOWER-R CEE'D 06- 4PCS
54501-1D000 CARENS (RONDO) 06-12
54501-1D300
54501-1D100

CQKH-80L 54500-2H000 ◈ FRONT LOWER-L CEE'D 06- 4PCS
54500-1D000 CARENS (RONDO) 06-12
54500-1D300
54500-1D100

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CQKH-80R 54501-2H000 FRONT LOWER-R CEE'D 06- 4PCS

CQKH-80L 54500-2H000 FRONT LOWER-L CEE'D 06- 4PCS

 CORRECTION NOTE
INFORMATION

TIE ROD END

NISSAN
CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CEN-141 D8640-1HJ01 OUTER R MARCH K11 09- 25PCS
M12 X 1.5   (34/2PCS)

CEN-142 D8520-1HJ0A OUTER L MARCH K11 09- 25PCS
M12 X 1.5   (34/2PCS)

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CEN-141 D8640-1HJ0A OUTER R MARCH K11 09- 25PCS
D8640-1HA0A M12 X 1.25 NOTE E12 12- (34/2PCS)

CEN-142 D8520-1HJ0A OUTER L MARCH K11 09- 25PCS
D8520-1HA0A M12 X 1.25 NOTE E12 12- (34/2PCS)

HONDA
CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CEHO-42 53542-S3Y-A00 OUTER R/L INSIGHT 01-06 20PCS
M14 X 1.5 (34/2PCS)

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CEHO-42 53542-S3Y-A00 OUTER L INSIGHT FOR AUTO 00-06 20PCSCEHO 42 53542 S3Y A00 OUTER L INSIGHT FOR AUTO 00 06 20PCS
M14 X 1.5 (34/2PCS)


